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Z=0.05m 

 



 

 



 



 

 



 



 

Task 2 



 

 

 



 



 



 



 



 



 

 

 

 



 

Task 3 



 



 



 

 



 



 

Area Average of Temperature on OUTLET 

 

  392.195 [K] 

Area Integral of Heat Flux on Default Domain Default 

 

  -1.84134 [W] 

Area Integral of Heat Flux on SYM1 

 

  -1.84424 [W] 

Area Integral of Heat Flux on SYM2 

 

  -1.84232 [W] 

Area Average of Temperature on SYM2 

 

  365.215 [K] 



Area Average of Temperature on Default Domain Default 

 

  358.997 [K] 

Calculate : 

Volume on Default Domain 

 

  3.59727e-011 [m^3] 

Task 4 

 



 



 



 

Area Integral of Heat Flux on Default Domain Default 

 

  -18.4127 [W] 

Area Integral of Heat Flux on SYM1 

 

  -18.4174 [W] 

Area Integral of Heat Flux on SYM2 

 

  -18.452 [W] 



 



 

 

Task 5 

 



 

 



 



 



 



 



 



 

 

 

 

 

 

 

 

 

 

 



 

 

 


